2024 LAND USE PERMITS

NUMBER	DATE RECD	DATE APPRVD	PROPERTY ADDRESS	LAST	FIRST	ZONE	PIN	DESCRIPTION
01-24	1/10/24	1/12/24	17472 N EAGLE LAKE RD	Gleason	John	SR	22130537	13' x 22' (286 sf) accessory structure (carport)
02-24	2/2/24	2/5/24	39855 Majestic Rd	Berger	Vanessa & Joe	SR	22320510	30' x 40' (1,200 sf) addition to accessory structure
03-24	2/12/24	2/16/24	40134 Red Fox Ln	Olson	Gregory & Shari	RR	22280648	Construct 2,816 sf single family dwelling
04-24	2/17/24	3/4/24	15634 County Road 1, Lot 40	Olds	Randy	WOC	22270507	Replace existing dwelling with 26.8' x 54' (1,447 sf) manufactured dwelling
05-24	3/4/24	3/4/24	16146 W Eagle Lake Rd	Hatcher	Brady	SR	22140507	Construct retaining wall < 4' height and parking areas consisting of class 2 granite and install 1.5" river all immediate vicinity of clubhouse
06-24	3/1/24	3/8/24	41170 West Fox Lake Rd	Nibbe	James & Denise	SR	22210504	Construct 434 sf dwelling addition and 116 sf deck/stairway addition

07-24	3/11/24	3/11/24	13893 County Road 1	Lano	Roger & Jennifer	FM	22330511	Construct 40' x 80' (3,200 sf) accessory structure
08-24	3/25/24	4/1/24	14496 Grouse Ln	Stovern	Pam	SR	22280649	Construct 2,900 sf single family dwelling, 32' x 40' (1,280 sf) accessory structure, establish view cooridior and construct 4' wide walkway in SIZ
09-24	4/5/24	4/26/24	40764 W Fox Lake Rd	Grosser	Steve	SR	22280551	Construct replacement 2,862 sf single family dwelling
10-24	4/12/24	4/26/24	tbd	Kuckhahn	Tom	FM	22330508	Construct 24' x 24' (576 sf) storage building
11-24	4/24/24	4/29/24	39437 East River Rd	Novak	Steve	SR	22350509	Replace existing stairway with 2'- 4" wide stairway
12-24	5/3/24	5/10/24	16625 Deer Ln	Cagle	Gregg & Kim	SR	22110505	Construct 24' x 36' (864 sf) accessory structure
13-24	5/13/24	5/20/24	42533 Kego Lake Rd	Mudek	Dan	SR	22150504	14 cu yd of grading outsideOHW level setback
14-24	5/23/24	5/24/24	17407 N. Mitchell Lake Rd	Michel	Rick & Heather	SR	22120571	4.5 cu yd grading in SIZ 1
15-24	5/17/24	6/3/24	42003 County Rd 136	Cielinski	Nick	SR	22130530	2,400 sf dwelling addition
16-24	6/3/24	6/7/24	41379 Old Kego Lake Rd	Johnson	Mary	SR	22220585	Construct 365 sf replacement deck

17-24	6/3/24	6/7/24	39855 Majestic Rd	Berger	Joe & Vanessa	SR	22320510	Construct 26' x 30' (780 sf) accessory structure
18-24	6/10/24	6/14/24	40824 Peninsula Rd	Kovacevick	Michelle	SR	22220566	Construct 13' x 36' (468 sf) lean-to addition on existing accessory structure.
19-24	6/3/24	6/14/24	16634 Brody Ct	Crawford	Diane	RR	22260504	Construct a 3,012 sf single family dwelling
20-24	6/4/24	6/17/24	40519 Peninsula Rd	Taatjes	Ben	SR	22270621	Construct 36' x 54' (1,944 sf) accessory strucutre
21-24	6/17/24	7/8/24	40532 W Fox Lake Rd	Lehman	Chris and Sarah	SR	22280540	Construct 2,882 sf single family dwelling with attached deck, 32' x 32' (1,024 sf) accessory structure and 8' x 12' (96 sf) accessory structure
22-24	6/3/24	6/24/24	16969 North Eagle Lake Rd	Petersen	Michael & Joan	SR	22130559	Relocate existing retaining wall and install 15' wide sand area
23-24	6/3/24	7/12/24	16243 Eagles Turn	Jacobs	Jon	SR	22230526	Construct 30' x 50' (1,500 sf) accessory structure
24-24	6/18	6/24/24	17113 Northland Dr.	Strain	Steve	SR	22120539	15' wide sand area not to exceed 10 cu yd
25-24	6/24/24	7/8/24	41915 Shamrock Ln	Preiner	Ken	SR	22240528	Construct 400 sf addition to existing deck and 6' wide roof overhangs on existing dwelling.

26-24	7/8/24	7/8/24	16914 North Eagle Lake Rd	Solberg	Dennis	SR	22240594	Replace retaining wall with several boulders in an 8'-10' wide sloped area.
27-24	6/24/24	6/24/24	40447 Town Hall Road	City of Fifty Lakes		С	22250516	Construct a 12' x 20' (240 sf) pergola on existing patio area.
28-24	7/1/24	7/12/24	tbd	Henagin	Andrew	SR	22120505	Construct a 2,160 sf single family dwelling
29-24	7/12/24	7/12/24	40705 Sunset View Lan	Lawrence	Justin	SR	22270606	Construct 12" high retaining wall and various site grading to control runoff/mitigate erosion
30-24	7/16/24	7/19/24	17672 Buchite Rd	Stone	John	SR	22360530	Construct apprx 12' wide driveway. Restore existing driveway located on subject property.
31-24	7/16/24	7/22/24	40918 Peninsula Rd	Elvebak	Mitch & Melonie	SR	22220568	Construct a 16' x 22' (352 sf) accessory structure
32-24	7/26/24	7/26/24	41615 Eagle Lake Rd	Wanty	Philip	SR	22240589	Construct 12' x 12' (144') screened/attached dwelling addition (gazebo)
33-24	7/19/24	7/26/24	15634 County Road 1, Lot 9	Precht	Paul	WOC	22270538	Replacement 7' x 8' (56 sf) accessory structure
34-24	7/26/24	7/29/24	15122 County Road 1	Fink	David	SR	22270579	Construct a 30' x 40' (1,200 sf) accessory structure

35-24	7/29/24	8/5/24	16240 Eagles Turn	Kourajian	Paul	SR	22230520	Construct 4' wide steps, and walking path within 15' wide clearcut area. Construct retaining wall (<4') in RLZ to control runoff.
36-24	7/31/24	8/9/24	41142 Peninsula Rd	Harris	Thomas	SR	22220613	Construct a 24' x 26' (624 sf) accessory structure
37-24	8/8/24	8/9/24	13817 County Road 136	Haughey	Matt & Jacqueline	SR	22310515	Construct a 36' x 60' (2,160 sf) accessory structure
38-24	8/12/24	9/10/24	16263 County Road 1	Reuper	Christina	WOC	22260532	Replace two recreational vehicles with two 16' x 24' (384 sf) seasonal dwelling units in an existing RV campground
39-24	8/1/24	9/3/24	16633 Eaglewood Dr	Witt/LaFave	Mike/Tonya	SR	22230531	47x98 dwelling with covered patio and entryway, 34x50 attached garage, and driveway as shown on site plan.
40-24	9/30/24	10/14/24	41615 E Eagle lake Rd	Wanty	Phillip	SR	22240589	Construct a 10x20 deck as permitted and conditioned by variance on 9/24/24
41-24	10/7/2024	10/28/2024	16840 Buchite Rd	Meyer	Brian & Angela	AG	22360514	Driveway & E911
42-24	10/7/204	10/7/24	40481 Fox Glen Dr	Meland	Bruce	SR	22270570	Addition (12x30) to existing 40x30 accessory structure. 4' height increase (interior).
43-24	10/15/24	11/1/24	14496 Grouse Ln	Stovern	Thomas & Pamela	SR	22280649	ATF Retaining walls approved by CUP on 7-23-24. Historic Ice Ridge cut, placement of sand.

44-24	11/05/24	11/08/24	40293 Fox Glen Dr	Siemers	Scott	RR	22270568	For the construction of a 52'x20' lean-to on existing dwelling
45-24	10/31/24	11/18/24	17257 N Mitchell Lake Rd	Miehe	Burk & Julianne	SR	22120524 22120525	For the construction of a 1344 sqft dwelling, 750 sqft attached garage, 160 sqft covered porch, approved SSTS.
46-24	11/15/24	11/22/24	39065 Co. Rd 3	Bonfe	Tony	RR	22350520	For the construction of an 88'x 48' structure/shouse. SSTS.
47-24	11/27/24	12/06/24	16246 Eagles Turn	Wright	Thomas & Diana	SR	22230522	For the installation of residential solar energy system approved by CUP 11-26-24.